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SECTION -1
gug - |

CHILD DEVELOPMENT AND PEDAGOGY
I -fawra ug fyraror fafiat

There are 30 questions in all in this section.
All questions are compulsory.

9 @U8 H FeT 30 WY ¢ |
Wt Tv T Hfqamd § |
1. The theory of learning proposed by Albert Bandura is
(A) Classical conditioning theory
(B) Cognitive theory
(C) Insight learning
(D) Social learning theory

AT TgX §RT WA 3 &7 fagr &
A) UG s fagT (B) JH'JiFllri-lch T

(C) 3agfee sfumy 4p)  gmEISTe EITH [HgT
2. How many personality factors are proposed by Raymond Cattell ?
(A) 05 (B) 14
(C) 16 (D) 08
U8 Heed §RT fha =fthed wRe yeaifad g ™ € 2
(A) 05 (B) 14
) 16 (D) 08
3.  Which of the following is not included in Maslow's hierarchy of needs ?

(A) Physiological needs

(B) Individualism and collectivism
(C) Love and belonging

(D)  Self actualization

A T ® I9-T1 HI&Al i SMavgHhdiell & YSTshH § GiatedAd wa&l & ?

A) 2feF HAEvgHam (B) AR TIH THRAR
(C) & ugq grEgdl (D)  3TcHfalg

el TR




e e — R

X

4B) g AR fawa %1 fagre
(C) Terequr &1 waTE fagr
(D) VIR forer srfrn

I1-@ 4 .
Two opposing desires present in an individual at 1.:hc same time is called
(A) Conflict (B) Frustration
(C) Anxiety (D)  Pressure

o it 3 e T W A faia geTal T E FEew €
M &E B) Pl

(C) Sosl (D) Qdd
ssociated with Stephen Corey ?

Behavioural research

Which of the following researches is a

(A) Basic research (B)
(C) Scientific research (D) Action research

Srefefad & @ SF-G1 SEUE ©HA FR 8 TEEd § 2
(A) IAYURYd FTHYUH (B) FIERTHS TGY

(C) dFHS IFTEUH (D) TRarcTs rEYT
Remedial teaching is used for which kind of children ?

(A) Fast learners (B) Slow learners

(C) Gifted children (D) Creative learners
YIS 96701 g YER & aretehl & [o1d W &l € 7

(A) Ot ¥ grad g _B) HmW HiEd A

(C) wfauremet aTeTh (D). TEATCHSAT | 9@ a1

Playway method of teaching is based on
(A) Theories of methods of teaching
(B) Principle of growth and development

(C) Sociological principle of teaching

(D) Physical education programme

fereqor sl Wetshs fafy fera fagra w smuf@ @ 2
(a) Treqor &t fafigt & fagr

-
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8. Who was the Chairman of National Steering Committee on NCF, 2005 ?

(A) Prof. Kothari (B) Praf Mehrotra
(€} Frol Yashpal (D)  Prof. Ram Murti
T, | Th., 2005 B TG fezafin wfafa & snaer 9 4 7
@ 3w (B) 1. HEIE

(C) . AT | (D) Wt I giq

9. RTE Act, 2009 is for the children of which age group ?

(A) 5-12 (B) 12-18
(C) 7-15 (D) 6-14
R 23, stfufam, 2009 fFg 30y Tog % e & fod § 2
(A)  S5-12 (B) 12-18
(C) 7-15 : (D) 6-14

10. Which of the following is not a physiological motive ?
(A) Achievement (B) Hunger
(C) Thirst (D) Sleep
FAfAEd J | SF-91 gfgeh ANRE A&l & 2
AT Wfﬁr - B) H@
(C) @g D) g

11. The psychological basis of teaching-learning depends on

(A] Teaching style (B) Course content

(C) Language (D) Soclo-economic status

foTeoT- 31T &1 HAESS AR fFfg W AR & & 2

(&) I Al B) fawg-a%
(C) o1 - (D) QHITH-3TH TR
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12.  According to RTE Act, 2009, the Pupil-Teacher ratio for P

should be
(A} 25: 1 (B)
(C) 40:1 (D)

6

39541
30 : 1

STL-1

mary SChOOlS

AR A 3. sfufmm, 2000 & @R Wt faemedl & forat ferammel- 3TEATIH 3TUIq

g1 =i
(A} .25:1 (B)
JC) 40 : 1 (D)

13. 'Midterm Exam' is an example of
(A) Creative Assessment
(B) Norm-referenced Assessment
(C) Summative Assessment

(D) Diagnostic Assessment

‘megraty g0’ U 3SR §

_A)  TEATHE Hodishd &l (B)
(C) FNTcHeh Hodish hl (D)
14. Which disease i1s hereditary ?
(A) ADHD (B)
(C) Parkinson's (D)

hIH-JT T ST € 2

a5 &
30:1

qeUe-aefiad godishd &l

A1 Hodieh I

Phenylkitonuria

HIV-AIDS

AR AT

Rorschach test

(A)  UELUFEL (B)
(C) URih~a~4 (D)
15. Which of the following is a performance test of intelligence ?
(A Bhatia Battery (B)
(C) WAIS ' (D)

77777 |l DI (4424
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L) w329 B) 9 T
(C) Z=U.HEUH. (D) I@F F1 Tg.9om.

16. "Human development goes on

but the order of development remains same in normal children.” Which principle

of development does this statement point to ?

(A)  Principle of continuous development

(B) Principle of interrelationship
(C) Prinaiple of uniform pattern

(D)  Prninciple of general to specific responses

(A) @99 faww 1 fagha B) wEn dav & fagia
) wEE gfAEn & fagia Dy  amra | fatvre sfeanst & fagh
17.  Which is the final stage of cognitive development according to Jean Piaget ?

(A} Senson motor stage (B) Formal operational stage

(C) Post-operational stage (D) Concrete operational stage

WA foara & sqam derras fres % sifam sawn @ k)

(A) HalrE aviE s 48) A diEmarE saedn
(C) I dwa=mEF waw (D)  HA #fFEaE wge
18. The Father of Geneucs 1s

(A) Gregor Mendel (B) Thomas Hunt Morgan
(C) James Watson (D) Charles Darwin
HHEVH F FF &
AA) TR 9=« (B) 9IHH &< OIH

() = TZEA D) TN 3faA
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19. Who propounded the Psychoanalytical theory of Personality ?

(A) Abraham Maslow (B) Sigmund Freud

(C) Carl Rogers (D)  Jean Piaget

e 1 TAAveNTTT fagrd fe st faar & 2

(A)  3TSTEH HIEA! 4B) [@THUE WS
(C) e T | (D) w1 faar
20. A 10 year old child has mental age of 12, then what would be his [.Q- ?
(A) 100 B) 90
(C) 120 D) 110
O 10 qTT STAF F WS A 12 § A IGH! fg-ared g
(A) 100 B) 90
Y Y 1o 120 ' (D) 110

21. Which of the following is not a biological factor determining individual

differences ?
(A)  Heritability (B) Innate temperament

(C) Parent-child relationship (D) Physical health

sfwg Rysar 1 fuifd & o = o @ SF-91 Sfas SRE T8l 8 2

(A)  STFETeTSRT (B) AT WY
(C)  SwTE-STeTH T (D) VRIS @red
22. The cause of Down's syndrome i1s
(A) Trisomy-20 (B) Trisomy-21
(C) XXY chromosome (D) Trisomy-22

ST3 HALTUT ST HRUT ¢

(A)  BEOTEEAT-20 B FrpREEr-21
SRRk D)  FrorgEEr-22
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23.

24.

26.

The concept of reliability refers to

(A)  Objectivity of instructions (B) Purpose of measurement

(C)  Consistency of scores (D)  Uniformity of scoring
faa=taa # R | sy 3
(A) T =t afsa (B) HI9A FT 3293
(C) Wil # SR=RAT .© ) WO F FEETA
Which of the following is not an example of projective test ?
(A)  TAT (B) SCT
(C) Draw a Man (D) MMPI
fefefEa @ @ F7-91 weid wieor &1 39T T9 i & 2
a) T B TEHA
) ZTEA (D) UH UH 91 373
Who propounded the theory of multiple intelligence ?
(A) Howard Gardner (B) Jean Piaget
(C) Dawvid Weschler (D) Erik Erikson
- F G A wiqaied fear 2
AA) A MEW B) wH frars
(C) Sfag IR (D) URS TRHEA

. According to NCF 2005, the main goal of Mathematics education is
(A) Training of teachers |
(B) Classroom learning
(C) Mathematisation of Child's thinking

(D) Course content of Mathematics

. € .0%. 2005 % FTER, TOTd Feror F1 W@ L9 ¢
(A) TemereRt @1 gieTeqor

(B) TeITH HTH

«C) FH F (g 1 MO

(D) TIUTH & faSFaE]
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:. 27 Learning through reward and punishment is related to which theory of
learning ? |
H I (A)  Social learning (B) Operant conditioning
\‘ (C)  Classical conditioning (D) Cognitive theory
| . %— )
| Wﬁﬁhmm%mﬂﬁwm%%ﬂmamﬁm .
(A)  IEITES g (B)  fohaT-wga A
(C) T ey (D)  TFHTHF o
28.  Which of the following is not a process related to learning during childhood ?
(A)  Past eéxperience (B) Reflection
(C)  Imagination (D) Argument
ﬁmﬁaﬁgﬁﬁﬁﬁq—ﬁrw&wm%ﬂmﬁ@#ﬁmﬁmﬁ% ?
| U CRC B G (B)  Hfdfeaq
| Je) Hea (D) @&
29.  Which tests are designed to measure the effects of a specific programme or
training ?

(A) Personality

(C) Achievement

30. At which stage of develo
adjustment ?

(A)  Old age (B) Adolescence

(C)  Childhood (D) Infancy

fTq & farg aa@nﬁwarﬁﬁanamwmmﬁﬁmmmm% ?
(A)  FgTawEn 4B)  freRTEEn

(C) AT dTa&y
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aug - 11
HHT - 1

fe=t
3 QU 4 el 30 WY € |
it wvq e & |
31. ‘W-W‘mﬁﬁﬁmmaﬁfawwﬁ‘w'mﬁmﬁ?
(A) e woTet (B) mm
(C)  UISE-JETE WuTTel (D) 3TTHA JoTe!
32. Fa9 oo uglaal § ‘wivtae ugfa' & =ue wam &1 89 fHEh € 2
AA) g AR fehetdfesn B) W 3R gy &
(C) TFHRI &I JThg i (D) Tl - &l
33, “Rerel 1w F ofT 1 QLT oy @A AU | A9 Sl # oid 9gH AR
T @, @ I T T WU | TE IEE fuRl § an wgEdt € | 98 e ¥
3I<¢ 98 § SToTshl ! ofd U A aifeq |
ITYH FYF WIS S H fHgH € 2

(A)  REEA H (B) A
AC) & FI (D) t-ﬁ{aﬁaﬂ

34, TIET-TEH F T F AT TGS R AT Aeihi § o |
4A)  OTEF TR AT WY € B) T foris o foemmed % fow WA €

| (C) TGS ¥ WA UE WA & | (D) WHA FH A AEE €
35, STT-fereqor ©§ UG H=F-3¥E WHA €

(A) eT | AB) AT

(C) ¥IHUIZ (D) 9 B
a6 g guTE T Qe 98 & <A gl o fawor-fagsy a1 ImE-3uEE S ey &, T8

% =

A) Tg7] g (B) &% 99

AC) HHURT FAE (D) FesiitE FEH

37. ‘ﬁaﬂmmmaﬁuﬁeﬁ'wﬁmﬁmwﬂ%ﬁﬂm%

(A) TRHAOETES B) AThardsh

(C) Hehdardas D)  TUTETE®
38. ﬁmﬁfﬁaﬁﬁﬁ‘m’%fmmmwm%

(A) —AB)

(C) - D) 1

' -4 P.T.O.
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I
‘ 39. 3IH foeqromedt @1 A @au (ARA H61 91, "IFd Uk 4 g, AATE UF HAl, AR

71 Ted i & e L
' (A)  arvrEad (B) Z&HA
() e (D) HZE]

40. Ifaan werem Tindt g7 watad ‘afas foan’ @ v wpa fagia &
(A) =g fagar g a6 241 |
B) TR F w47 wAnTeIen | feredr &4
JC)  HIGUNT & mnayg @ fore 92 FE1

<At @ Imwmgmwmmmmammﬁwmm
AR EHUT F FESS HAAT ¥ A9 GEAT & fF @07 36 H1 AFEOT AT AR F
WWFWWWWW@WWEWWW?Hwi
39F [0 a8 HAR- HA<EAT Sl 9T O 76T FHSAT | yY % 9 W) A SAiad 69y,
ARFE HR &6 F 99 97 F1 28 @e- 9 w19 FH §

41. '’ WK FH gGFA T

(4) 91_e B) el
(C) 8H<4 D) T
42. '3’ & AT §
(A) ATH (B) 3uH
(C) 39 D) Ev
43. U ®d F U T mar s’ gty v v v 2
(A) J{9hTY (B) X9l m
»ff)‘ oY (D) HTF
44. 959’ =< H 3G &
| = Mg - D) @
| 45. TINI ¥ H §HIE H TFR £
i (B) deTEN
(€)  Segdiie D) FHURT
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46. ﬁﬂ?ﬁf@ﬁﬁﬁﬁ?{-ﬁa’lﬂﬂﬁm% 9

(A) I Al B) FoE
(C) Haed (D)  STI[HTHOT

a7. et st |
(A) ¥ ATy gre (B) eA-3vd i Qe
(C) e T (D) 399 4 a4

48. Al e UF AT 1 74 21 gt foreqor &1 F-T 3RVI 7 2
(A) HIIATHE IeIT (B) GidlH% 3%9g |
(C) THIH$ 389y (D) JMIHS ECAE |

49. Corereh TATHIE, T 4T W W 3eRT i fer@ 21 & 3 BET F Foa ¢ 6 7 FE
F 3gFT ITF A @ I UER R T | T8 A @

A) T faty _B) 3T iy
() HeHd faty (D) & Sieie &
50. SEaHcd, el Teid, [aSH qdlq,gﬂmﬁ%wﬂaﬁ%fmﬂwéwﬁ
& HTE ?
(A) I WA B) HeTHE TR
4E) TS T (D) T
51. W*Wﬁaﬁwmuﬁi&*wqﬁq:
(A) Wﬁﬂ:{ﬂﬂﬂﬂ(ﬂél <
B) @ HH H IH SH Fo A |
L) S 9 W ¥ @ & g ool § @ o |
(D) S T TS S W IEH! A I TS |
52. Sy arey ST & A 3T Bl €

VI
(C) dR (D)

53. ‘@ #HE 4TH @I, ﬁﬁﬂmﬁmﬁ'ﬁﬁﬁswaﬁaﬁ%
(A) Fe § foe =t el B *
B) ST @M & THAH Sl
(C) a7 FE HEST A O &
D) %ﬂﬁ{ﬂﬁﬁwﬁéﬁﬁaﬁwﬁqm
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|: 54. ‘TuEHR' § ferw @ & wEm ¥ 2 e
| (A) E.]ﬁ‘s' Gt (B) T v >t ‘f_ (}) 5 @
| (C) JuT Wiy (D) arafe Y | U?,;,{;q y
1‘ .' - ‘@m%%ﬁwmﬁﬁﬂﬁfﬂﬂﬁfw?mm'ﬁ
] (A) G 9 4B e RCIER
(C) Hg® darH (D) eI EECIES s 3
S6. 'm?ﬁmq@ma'mﬁwmmmmwmwm -
(A)  ferarETEE 4B) FREED
(C) HehdTdeh (D) AT |
ﬁm%ﬁaﬁrmm%mﬂmmﬂWH@ﬁoaﬁ%Wiﬁ?' R

hl &

R & T I A I T ot g Al A AT —:,tgnwﬁa;;
ﬁwwﬁwqmmm%umﬁ-waﬁmﬁﬁwmﬁw E

=Teq |
57. ‘fage’ &1 SiferT &

A) e 48) gt

) (D) fEt
58 UsHadd, dgadd &1 Tel IH €

A TE - T | 4B) T - &I

(Cc) Tl - Qe (D) T - AEe
50, ‘IUF’ VX 1 TEl Y ®

(A) HTHH (B) ATHcA

) AR | (D) TR

60. '@-@Wﬁﬁﬁﬁﬁaﬁaﬂmmﬁémmmﬁ%mﬁ

FH-TT FTA € ?
K) HH e (B) G Hiesd e

(C) T9H ATHT A (D) THH JIHTH A
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31.

32.

33.

34.

39.

36.

15 E

SECTION - II
LANGUAGE - I

All questions are compulsory.

Which of the following words is correctly spelt ?

(A) Vaccum
(B) Vaccuum

(C) Vaacum (D) Vacuum

The two kinds of reading skills are

(A) verbal and visual reading (B) slow and fast reading
(C) silent reading and reading aloud (D) all of these

Which of the following is a criterion for selection of a writing task to be given to
the students to develop their writing skills ?

(A) Interest of students (B) Level of the class
(C) Both (A) and (B) (D) None of these
Multimedia resources do not include

(A) Audio resources (B) Video resources

(C) Computers - (D) Pens and pencils

Who has given the concept of Transformational Generative Grammar ?
(A) Edward Sapir (B) Roman Jakobson

(C) Noam Chomsky (D) Ferdinand de Saussure

Which one of the following skills uses praise words and approving statements to

motivate the students ?

(A) Response variation (B) Explaining skill

(C) Reinforcement (D) Lecturing

Passage ( For Q. Nos. 37-40 ) :
We all use roads. We walk on them or drive our vehicles on them. We go across them

or walk on the pavements along them. In cities there are footpaths or pavements alang

the roads. Those who walk on them are called pedestrians. [t is safe to use footpat_hs if

we are walking.

Roads in big cities are very busy.

buses,
bullock carts, horse

They are crowded with all kinds of vehicles like

trucks, cars, three wheelers, motor cycles, scooters, bicycles etc. Slow moving
carriages, etc. can also be seen there. Walking and driving on

77777 | WRHINARTA P
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. , les of the road an

such roads is always very risky. People in a hurry ignore the ru v The b d
* . . - ve ay. € Deg

cause accidents. A lot of people die or get injured in such accidents every t

way to avoid accidents is to obey the rules of the road.

37. The synonym of ‘pavement’ is

(A) Road (B) Tralffic
(C) Footway (D) Walk
38. The antonym of ‘busy’ is
(A) occupied (B) idle
(C) tired (D) freedom
39. Find out the word from the passage that means, “The people who walk on a
pavement”.
(A) Bullock carts (B) ‘Horse carriages
(C) Pedestrians (D) Vehicles
40. The verb form of the noun ‘driving’ is
(A) drive | (B) undrnive
(C) driver (D) none of these

Passage ( Q. Nos. 41-45 ) :

The folk dances of Rajasthaﬁ are inviting and engaging. They are bound to induce you
to tap a foot or two along with the dancers. Rajasthani dances are essentially folk
dances. Their origin is in rural customs and traditions. These traditional dances of
Rajasthan are absolutely colourful and lively. They have their own significance and
style. They are attractive and skilful. They are enjoyed by every age group. The people
of Rajasthan love their folk dances.
41. The words ‘inviting’ and ‘engaging’ are

(A) Nouns (B) Adverbs

(C) Adjectives I (D) Pronouns
42. The sentence, The people of Rajasthan love their folk dances” is in the

(A) Simple present tense (B) Present perfect tense

(C) Simple past tense (D) Past perfect tense
43. The word ‘Rajasthan’is a/an

(A) Common noun (B) Proper noun

(C) Collective noun (D) Abstract noun

77777 |MIHIIN [444]
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Which or |
.tl L ”f\ the following sequences has the three degrees of the adjectives in
their correct form ? |

44

(A)  Lavely, more lively, most liveliest
(B) Lively, livelier, liveliest

(C) Lively, more livelier, most lively
(D) Lively, more lively, hiveliestly

45. Which of the following phrases has a determiner in it ?
(A) Customs and traditions

(B) Colourful and lively
(C) Attracuve and skilful

(D) The folk dances
46. The study of speech sounds is called

(A) Morphology (B) Etymology
(C) Phonology (D) Chronology

47. The phonetic symbol for the underlined sound in the word ‘shy’ is

A ] (B) s
© tl (D) d3
48. Choose the correct phonetic transcription of the word ‘boy’ :
(A) /b3l/ (B) /bdl/
(C) /bal/ (D) /bol/
49. “T}l'lebpeon opened the gate.” The correct passive transformation of the sentence
will be

(A) The gate will be opened by the peon
(B) The gate was opened by the peon

(C) The gate 1s opened by the peon

(D) The gate has been opened by the peon

50. Which question form is correct in its structure ?

(A) Do you go to college yesterday ? (B) Does you go to college yesterday ?
(C) Did you go to college yesterday ? (D) Did you go yesterday college ?

51. Measurement is a process of .........coveuvneen. . evaluation.
(A) Qualitative (B) Quantitative
(C) Linear (D) Unitary

52. Choose the correct sequence of steps in managing classroom teaching :
(A) Controlling, planning, organising, leading
(B) Leading, organising, controlling, minding
(C) Organising, controlling, leaving alone, commanding

(D) Planning, organising, leading, controlling

77777 | TN PRI
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The Language Laboratory is used for teaching
(A)  Speaking skills | (B) Listening skills
(C) Both (A) and (B) (D) None of thes€

Which of the following is not true of CCE ?

(A) It focuses on co-scholastic areas also

(B) It promotes holistic development

(C) Itis time consuming and punishing

(D) It reduces stress and anxiety of the students

. . , ioned to evaluat, 3
Evaluation of language proficiency is done through tests desig 3

which of the following skills ?

(A) Listening, Speaking, Reading and Writing

(B) Listening, Reading

(C) Speaking, Writing 32
(D) Wnting

Which of the following is not a principle of language teaching ?

(A) Principle of naturalness (B) Practice and drill

(C) Learning by doing (D) Copying and pasting

Mulu-line approach consists of

(A) use of models

(B) reaching the same target from different directions and means

(C) selection and gradation

(D) all of these 3
Which of the follmﬁng is true about the Grammar-cum-Translation method ?

(A) Mother tongue is used while teaching

(B) Form is more important than content

(C) Rote learning is encouraged

(D) All of these .
Which method is also known as the natural method of teaching English as
second language ?

(A) Substitution method (B) Bilingual method

(C) Grammar-Translation method (D) Direct method

.5

Which of the following English teaching approaches is student-centered and
student-oriented ?

(A) Communicative approach (B) Situational approach

(C) Structural approach (D) All of these

rrrz7 WA [
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L LE S §
" —
W
A B g gfs
/& Tv e
31, ‘fag®:’ IW g faeimenf —
(A) s B 3w
() T (D) g

32. “feret SMeTHT 1 GEAH A ¥ av qrrre A AT -

(a) Forfersr aferhmd Qe 33t B) fuifeterr anfersra qras zarid

c) fofie snfersi s g=ifq D) (ol e e e
33, ANTEY WEWHEA & IV TEfd 2

(A) HET R (B).  |TSUT hIvIei

(C) TS HITeAH . (D) N Fed
34, HE TGl FTAHTH: T G T]MA, BEN: WG Al fava= T ?

(&) TR far: B)  THA-fATAA fafu:

(©) TS far: (D) Sy ferfer:

35. HEHAWNIRIEIURE @rifash: FH: R —

() AU, TS, T@H, WISl (B)  WINUi, /@YY, S, TR

(C) %@, WI§Ui, 93, TG (D) U3, HEU], TI@H, HTHl
36,  TRISUIITERTOTY Sae S oy-fersore &: fagr @ifrad 2

(A) TEHAT-HEHTATAT: fggT=: (B) T 3TT9edth: THgT:

(C) @rTfaehardr: [gr: (D) UEAngEE fEeT:
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37.

38.

39.

40.

41.

42.

43.

44,
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WWWWWW:(N'“'@ oA e w
IR feaa forarn: Tmre™ yraeaa | dcagard 8 AT o
?ﬁﬁmqﬁwﬁWﬂammﬁwmaﬁﬂﬂﬁﬁma - o FAAEE
g gl gawy: e gifadard | qAvArdh AT — Uy q'ES'T[' it ® m
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SECTION - III
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this section.

All questions are compulsory.

61. With ................, students come to see the tests not as a punishment but as a
uscful feedback. The classmates work together for ‘common intellectual welfare”:
(A) Self evaluation _B) Group evaluation
(C) Peer evaluation (D) CCE evaluation

62. “What do you think about the two candidates in this election ?” This is an

example of

viA) Open ended question J4B) Close ended questinn‘
(C) Both (A) and (B) (D) None of these

63. Which test items consist of a stem, the correct answer, keyed alternative and
distractors ?

(A) Diagnostic test (B) Multiple choice test

&) Close test (D) Oral test

64. The remedial English classes are very helpful for the students who are

(A) below the age of 18 years <

AB] unable to achieve the required grades,
(C) poor and can’t get formal education.
(D) rich and can afford computer

65. Feedback i1s always

JA) Summative (B) Formative
(C) Annual (D) Objective
66. ‘Petrarchan’is one of the categories of
(A) Ode (B) Elegy
4£C) Sonnet (D) Drama
67. The number of pure vowels is e .
(A) © (B) 10 o,

€ 11 ' ' AD) 12 &
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O8 p. Lk O s, |, h, r[,f are called

- onsonants
eless consol
AN Voiced consonants (B) Voicele
¢ vowels
(€) Pure vowels (D)  [mpure vod

» word :
rlined sound of the
69 Choose the correct phonetic symbol for the underhned s¢

Water
(A} /wot] / (B) /west/
NG /wdoita(r)y/ (D) /wD[ru:/
70 Find out the word which begins with different sound from other given words :
(Al Reach  f\~\ X\(B}Reap
(C) Rich e\ = NS (D) Read

71.  *“When to the sessions of sweet silent thought.”

Which literary device is used in the above line ?

AA)  Alliteration (B) Personification
(C)  Simile (D) Metaphor
72, What device is present in the__line.“lfought ol oaten stop or QHSIOI'HI song” ?
(A)  Irony “1B) Assonance
(C)  Paradox (D) Alliteration

73. “She was a phantom of delight.”

Which literary term is used here ?

(A) Elegy (B) Simile
AC)  Metaphor (D) Sonnet
74. “As green as emerald” is an example of
(A)  Allegory (B) Hyperbole
(C) Satire A4D)  Simile

7S5. “Peace hath_ her victories
No less renowned than war.”

What is personified in these lines ?

(A) Victories (B) Renowned
v1C) Peace (D) Less
76. Which of the following contains the same vowel sound ?
_HA) Bite — kite — si;::: (B) Bill — bell — ball

(C) Like — look — luck (D) See — say — sick

e (W (433
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77 The communicative approa .
ch in teaching of Engli :
. 1
developed in L K glish has been practised and

(A) India and China .
(B) India and Sri Lanka

JAD) France and Britain

Which one 1s a chze )
| allenge in the process of teaching English language class ?
~A) Less interesting teaching style (B)

(C) China and Japan
78.

More interesting teaching style

C) Rea g | :
(C) sonable time management (D) Good lesson preparation

79. The excessive use of mother-tongue is

~TA) helpful in learning English
(B) a challenge to learning English «

(C) a substitute of learning English ~

(D) none of these

. In | ! :
80 e teaching material should be in accordance with the mental age and should

have relevance in real life situations.” The statement refers to

&) Principle of habit formation

'(B] Principle of selection

(C) Principle of gradation

(D) Principle of controlled vocabulary
81. “Two roads diverged in a yellow wood ¢

And sorry I could not travel both h

And looked down one as far as [ could 9

To where it bent in the undergrowth” h

The rhyme scheme of the above lines i1s

| (A abaab (B) AAbaa
(C) ababa (D) Abbaa
(-1 S (IR —— give him an answer if he had asked me.
%TA) can (B) may
JC) could (D) might.

83. Choose the alternative which best expresses the meaning of idiom / phrase
underlined in the sentence .

«I met him after a long time, but he gave me the cold shoulder.”

(A) Scolded me ' (B) Abused me
(C) Insulted me D) Ignored me

77777 | P.T.0,
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[H] ““””-” n story 7

upple
oblem or st
84 Which terary term refers to the prol

(13)  Drama
A} ConMicet

e

(C) .'\I‘IIHI‘I nds ““l)[lllv
' ' ntended to amuse and that ¢
85 A form of drama that is intenc

J“’ Comedy
(D) Trony

(1)) Chimax

(*‘“ TT.‘IRL"&]\'
(C) Biography
|‘4I:~:R.lm‘-t For Q Nos 86-90 ) PRI aveniy
¢
O traditional art practised in Kerala, Though

actised in Kerala ;g
; _ . yractised

avellers mentioned Kalar being | | . 5
foreign travellers * N existence

Nalanpavart IS

ongin are disputable, al art to be
. - rartuald @

carly as the 13¢h century, which makes it the oldest n

L al art and 1s the
' i martial
Kalan s l.l“'lhllit‘l'l‘d (o be the most complete and scientifi

introduced

from India,

mother of all martial arts. Bodhidharma, a Buddhist monk i l . mmh
¢ fac

Kalan into China and .lupnn Whnt makes Kalari umqm s th N

1d

self defence and, abov ‘e all, learns how to avoid (.nnfrnnln(ttmﬂ. where he hils lo attack

somebody or defend himself.

86. A student of Kalari learns ... philosophy ................ attack and self
defence.

Fill in the blanks with the help of given options

(A)  neither — nor (B)  either — or
AC)  not only — bt also (D) as — as
87. Kalaripayatt belongs to India ... Karate belongs (o Japan.
(A)  that | “B) whereas
(C) f (D) when
88. Some people still ...~ of Kalari’s heavenly origin,
(A)  claimed -‘fﬁ) claims
(C)  claim (D) were claiming,
89. Kalari ... the oldest martial art to be in existence.
AA) is (B) was
(C)  were (D) are
90.  The most Suitable title for the passage is
(A) Drawing and Painting ’Tﬁ) Mother of a Martial Arts
(C) Table Tennis (D) Lawn Tennis

el T
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A) T R (B) @01 [91equl
) Ta= foem - ;
62.  SHIAHT WS RO Yaed | wigfy —
A JAHUs:
) (B)  UBd EHH
Cc)  Taaton .
() (D) TR IAH

63. T FAY A T frfied 1WW@WW,WW: | g4 e

TE T aid | 3 U9 TR Hatd —

(A) TSR ferehed: B)  SgideHea:
) HFH D) ey
64. S TN T FEM FHE IR T BE: aeh-TaaetT @Ear
qehe i< ?
(A) T OET (B)  WIETehR ORied
) fetfiae e D) e ae
65.  WTEATATAT fIETRE: HEEH aid T 2
(A) HUTAHHETRIIT B) GHENA @RI
(C) Toame TR (D)  STATAEERRIA
66. TrfefEag: Grfaaqe e [Ed —
1 B | C CHORORS fam "
(A) B) Al
(C) T D) T

e NN (55

BT,



67 gl den afeg —
(A) 820 (B) 28
(C) 38 (D) 48
68.  “fauren) qrantrmr urafasamr: (" vafgd we @@ s —
(A)  ©Z STHR: (B) @2 AhI
(C) & &R (D)  IZ “AhN
09. W E e @ gep: arfey —
(A)  Fdaq (B) Afd
€) AqY (D) MY

fh M ey a9,
TG e fae
0. IR 37 % gur: sy o
(A FEsiifeamy: (B)  FHAHY:
(©) TRy (D) FeqETE:
71 T 39T Ty sy — |
(A) 37Ty (B)  TUrgfy:
(C) H=wqafy D)  fagrafy.
72, VEA 3T & gT: yge: o
. (B) 31y
(C) g2 (D) v
73.  WFA 3 T faufe: sy o
(A) g (B)  wqHiTFHITH

(C) WTSIUFHaaay

(D) qr—ﬂmqqacm-fﬁ_[
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(A) fl[x*vi Ral
B)  tEtergy

l'L"l "]Ilud’ah"{ﬁl{\

IEHUY TR FRY: qm E i
)
(A) SUI: ﬂ

(D) AWfArFy

(B) g4l

(C) Ju=ad
(D)  dore:

USRS IR .
e Mﬁa Eﬂu:ﬁ?‘" “F‘If’ﬁ 1” A & mlﬂ |]|ir]ii]; g‘.‘i}'ﬁ

wafd 2

(A) TR fafy:

©) WSugEas faf: (B) e P
WTNTAT: WS e kg —

(D)  HIS{H fafer:

A) ST
) FETH (B) 93TH
U3HHINA wafq — (D) AT
(A) & drd4 I ECIB e B W P
(C) IR Yellshota-sd . |
: ? D) Wiy fefed STadaRo
st 3 < AT =RFAAshRT forere: faferse feorefoi shrafd, a@ A™
I TR R B)  TH [¥m&uH
(C) JUARIHH fRrafory D) fi s
e g v — |
(A) TN haeTHHAH B RaRe
() oY FarRH e )
'H2 et 3TeST ATl & || 3T S HXhdraR wﬁ_
(A) TH %o T9d B e et A
- 10 SO D) ¥ el T
AT eeeeiiinannns | Fehe= qad —
(A) <l B) e
(C) <hUa: (D) _Tﬁ
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™ 18 m,
83 a Y waf' sp A aremiEdd vl -

(A) 3T YEaE gaa R i -

(C) 5a1 q&qah1ia vamy (D) HA o
84.  aRIME deivaa - v afid: df af - H

(A) AT ufta: atafor af= (B) Wmmﬁ

(C) AR ufka: a=nfor wf= (D) WW:WU&[

fefEan syufad meriey sty fefgan: weAn (85 - - W =

qera gl A | I A Ty

?F’fcmwmnqq'm B RIGIC R CERCE
feufy &1 93 fagmaw@ grred 9 smegd | @Eid A Wd?ﬂ?’&mm

F1AY fagg | A anfasenn fafear: | TTAE: ﬁ»’a@ﬂﬁﬂ%

ATir ol e st g fwe: S R 1 A

SIATETIE SfqER wAfT | srtsE aifs S AT w0
85. I I #F favfw: sf@a » |

(A) W B)  fedm
(C) NI (D)  g@Hl
86. ‘TavmEa’ W wRy-fawms: woig: —
(A)  fow= + 33 B) fosme + U
(C) fasm + 7@9 (D) fas + oA
87. '®UNT: T & T T ?
(A)  F + IR B) F+ 39
(Cl P + g2 (D) & + ¥AMEA
88. ‘TEIFIAF MfesETT: ﬁﬁﬁ'r | 3T ek v faersgug fhy "’ ?
(A) T B) I+
(C) TR (D)  fafear:
89 'YW I GHIEIIUE vafy —
(A)  IThH 3T (B)  ¥Th: 379
(C) ¥Th: 'G":ﬂﬂ (D)  Ih: grgn
90. HEIT HIE: Wl TR Al ............... Fg™" aqﬁ:q:{iam} HTUEH AT -
(A) HHES: (B) g
A L (D) T
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(D)
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92.

37

38

39
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‘ 4B) 2302 & 3T9aF + 2599 & 8 faa

43 M}

SECTION - 1v / vz - v
MATHEMATICS ; TTfoTq

There are ' ' ' !
1ere are 30 questions in all in this section.

All questions are compulsory.

The non-terminating recurring number 0-123 s equal to the fraction,

(A 123 B) AL Y
1000 333 175 .Jg_

0 41 L3 =
300 )

AT 1A WA 0123 F W= Ty 2

123

(A} =2 %1
1000 B 333
37
300 D) =45

The cost of 16 coins of 50 paise 1s equal to

(A) 4 coins of Re. 1 + 3 coins of Rs. 2
(B) 3 coins of Rs. 2 + 8 coins of 25 paise
(C) 3 coins of Rs. 2 + 6 coins of 25 paise

(D) 2 coins of Rs. 2 + 3 coins of Re. 1

50 T8 % 16 ToFh! #T gog TR 7

") b = g
(A) 1393 & 4 T95h + 2593 & 3 o

C 9

h <A

1

L ¢
) 2% & 3 s + 25 9 & 6 e

v 3 |
(D) Qm%2m+lm%3m




2 ,_l —?- 19
| bers = : "6
93.  The right descending order of the following numb 7'13
“ | 325
(A) 2—%% B .52
25 3
5 3 2 5
© 137 D) 7613
o wema 2 3 S a5 gt aratiel wH @
77136
5 2 3 ig,g’-
A
ol > 3 2 25 3
R P 7813

| X3
g -LxX - ;f‘(-—‘ ’
g A 1 - Q@ petedis
$ X k"’/r
k\q (C) D) 17 3
ut % 30 \_/#} 307y
f i 3 2 5 ¥ 4 1%;
6 15-(25 -4 ) mam -
0 //(,’_{ 4.
A A) =2 2 . e
-\ (A) 10 (B) 10 i T
R 1
\M S [y -tk o) 7 };5,
R ; " 3
\/ 95. The greatest number which divides 244 and 2052 such that it lfeaaves remainder
(\)D 4 1n each case, is
(A) 12 (B) 16
, (C) 30720 (D) 15360
TS W T dE, Y 044 qur zoszﬁﬁuﬁamﬁmmﬁtﬂﬁrn4ﬁm
a2, 9% §Er g
(A) 12 c B 16
(C) 30720 (D) 15360
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06. P takes loan of Rs
6 Rs. 9,000 at the rate of simple interest 8:5 % for 2 years and

8 months, tl -
1€n total amount tg pe returned by him will be

(A) Rs. 2,040

(B) Rs. 3,060

& Rs. 11,04
(C) 0 (D) Rs. 12,060

PﬁQ.OOOFOWWS*S%WW?{WQUQBWQ?WW:#TE@%
ferat T 99: Srert w2 -

1A} 2,040 %o (B) 3,060 %o

(C) 11,040 %o (D) 12,060 ¥°

97. A cylinder of height 4 cm is formed after folding ( without overlapping ) a

22 cm x 4 cm rectangular paper, then curved surface area of this cylinder, 1s
2 2
(A) 88 mcm (B) 88 cm

2
(C) 176 mcm? (D) 176 cm

U 22 GHI x 4 YOI & HAFATHR 1Tt i Arg T (T HATT), T 4 FHl SIS

7 o SEATET TAT | 3F oA T THYS FHI GFH e VIXY =

2
(A) 88ncm2 'L/%B) i

—
2 "
Q 176 x a2 (D) 176 cm @ , 42 ,
TS é"’} )

PG
77777 | IIDUNNR [444 ] ‘
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| ; ol 0 L
98 In the given figure lines AB and (D arc intersectine l'f pEC D= 25° then ZCOF
angle bisectors of ./ BOD and 2 COB rcspfr“wh and
equal to
A D
0125 _E
. B
I
F
(A) 130° (B) 65°
(C) 105° (D) 507

g1 OF %5y,
m“ﬁmﬁmwmm%ﬁomgﬁraﬁﬁﬁ?%laﬁ% PEY

- . g
_BOD ST . COB % WHIgHS® ¢ Td dlg LEOD = 25, 4t COF s

ne

A faD

(A) 130°
(C) 105° (D) 50°

99 Area of a square field 1s 6400 m?. The distance travelled by a person, 1

5 rounds on its perimeter, 1S
(A) 320 m (B) 160 m
(C) 1-6 km (D) 3:-2 km

£)  16km (D) 3-2 km v [(ACD

777 (AN (444] 02 80
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100. Time taken to fi

. . nk of g; | by a tap with spee
20 litre /minute, g S1z¢ 2 m x 1:5 m x 1 m, by

(A) 9 minutes

(B) 1 hour 30 minutes
o minmm (D) 2 hours 30 minutes
27mx 1'S m x 1mq”%m:ﬁ%§$ﬁq¢qamgoaﬁa/ﬁ=rzaﬁnﬁﬁmﬁ
H & 9Hg @ qao0% 5o _%.-——— >

% X &6

n .
9=

9 e
(A] - i (B] 1 Y927 30 ﬁ:FfZ { I;D
20
fie )3 oe L
e (D" 2 {2 30 e
101. "Mathematics is the mirror of civilization and culture.” This statement is said by
(A)  Bacon (B) Berthelot
(€)  Hogben (D)  Bertrand Russel
TIOT FAT SR HEFT B 40 ¥\ 7 g e T 2
(A) ST (B) oAl
Jc)  EhEH (D) TUg THA

102. "The act of combining separate parts." This method is called

(A)  Analytic Method (B) Synthetic Method é.;_\ /A
QXL x

(C) Laboratory Method (D) Project Method

" HAT- ST 9T i SreAT!”’ g8 fagrd Fedar &

A) Taversor fafy (B)  Hyeryor fafy

(C) warTIe faty (D)  9RErAT fafy

77777 | IO [444] P.T.0.
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on
(A)  time and duration
oblem
(B) the correct identification of causes of pr
(C) knowledge of linguistic rules
(D) remedial teaching materials
TR foreqor F1 qaitus FRerdl 5 FTdl €
(A) WHZ g 37aYg W B) T ' -
(C) umNE fAmal &% FIH W D) ELRl Ui
) R tics
104. Arrange in correct order the steps of evaluation 1in mathema

1. Identification of situations

2. Selection of objectives

3. Selection of evaluation methods

4. Interpretations of evidences

5. Constructions of evaluation devices
(A) s L 3y 4 (B) 2.3 1. 5.9
C] 2,3,5,4,1 D) 3.2.4,5,1
TOTd | Hogish & QAT F1 Gl HH g

1. uitfefaar &t 9edlHd v

2. G Fr T

3. HiHA farygl 1 934

4. WHIOT i AT

5. Hodisd Warygl &1 fAa7oT

M 2,1,3,54 B) 2,3,1,5 4

e AR D) 3,2,4,5,1

77777 |
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105, A student wyg asked ¢, read the

fnllﬂwmg numbers :
306.406,408,4020

He reads as follows -

(A} the studeny does not ke Maths class and finds the class boring

(B) the student has Understogd the concept of place value and its use also
(C)  the student jg not fit for Study of maths

(D) the

student ;g not able tq

feels
understand the concept of place value and
comfortab]

€ using two-digit Numbers only
wwﬁﬁrﬁﬁﬂémﬂ?ﬁ%ﬁ%fﬂqmw:
306'406,403,4020

wﬁﬁwmw

B) B T BT A F oo i T foran & 7w g A

(C) BT TV &1 3 FH F fow 3ugew AH ¥

P.T.O.
777 MBI




@ 50 dred and one, is
106. The digit form of one crore one lac one [houq‘md one hti¥

(A) 11111101 @B 10101101

(C) 10010107 ) 11101001

T FE U o U g O W o F1 HET T

(A) 11111101 (B 10101101

(C) 1001010} (D) 11101001

st value of Pis
107. 1f 31PS is multiple of 3, where P is ten's digit, then the greate

(A) 9 (B) 3
(C) 6 (D) 5
U&r%%s 3wwﬁ.ﬁﬁpméwW%,ﬂPﬂmm%
A7) 9 B) -3
(C) 6 (D) S q
108. Value of 25+12 x33-25+5 is ,.131, 3
(’3\0\\ (A) 1216 B) 79z
/ 29 )
(C) 416 (D)  239: Xe
T
25+12 x33-25+5 HI AH &
A) 1216 (B) 79%
(C) 416 (D) 239%

109. The least number which is divisible by the numbers 1 to 10 is

(A] 1680 (B) 840
(C) 2520 (D) 5040
98 -G B T B GAT & S 19 10 dF Ft G T faur=g & 2
V82
sﬁ ) 1680 qf\%{/ X(B) 840

‘/c) 2520 @ A D) 5040
\.1"" A |
1% o ©
77777 llllnmmmn/”Kl o "'
Y} oM T*\_
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Multiphication of place Values of 3, 4 and 5 in the number 60321045 18 equal to
(A) 60

(B) 600000
(C) 60000

(D) 60000000
HE 603210459 3, 4 7oy 5 & R WAl a7 Uil aUE 8
(A) 60 R

PR AN (B) 600000

114

112.

(C) 60000 66
| AD) 60000000

The difference between the greatest and the lowest prime numbers of two

digits is

(A) 88 | 924
_AB) 86 | ‘ ﬂT]

(C) 89 (D) 95 8

- LY

ﬁmﬁma@amﬁsﬁmﬁwﬁmiﬁ S

(C) 89 (D) 95

If the cost of 12 dozen pens is Rs. 720, then the cost of 25 pens 1s

(A)  Rs. 1,500 (B) Rs. 150 @

‘ 2N

(C) Rs. 125 ' (D) Rs. 1,250 3490

A 12 I9 9 T Hod 720 397 B, A 25 U1 ST god gnm VX VT

(A) 1,500 %o (B) 150 %o

AC) 125 %o (D) 1,250 %o

113. The average weight of 5 students is 40 kg. If one student of weight 50 kg has left

them, then the average weight of remaining students is
(A) S50 kg (B) 37-5 kg

(C) 30 kg (D) 625kg

7rr77 | (444 oo
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STL-
52 - o farml &, B1% Wy
5 O 1 aNwa W a0 fsmr ¥ ofy 3 | O e
®, O AN Q9 o @ sl wie e 9%117 ¢
Z131.
§ il
A) 50 | |
(A) kg (B 375 kg “ J,;;_
Wl 0ke (D) ~ 62:5 ke hen igst price of th,
. the
L14. If a product is sold on 10% profit at selling price Rs. 330
product is
(A)  Rs. 360 (B) Rs. 363
(C)  Rs. 297 (D)  Rs. 300 .
&1 hd HeH
& a%] mtvnmﬁfaﬁmqwsaommaﬁaﬁﬁ%.ﬂ*wm
\or. WS (A) 360 o (B) 363 %°
S o '
,%x\" (C) 297 ¥o ~+D) 300 %
Y\ r 7 hours. If equal part

115. In a school under 'shramdan’ camp, 12 students clean fo

' ired ?
needs to be cleaned in 6 hours, then how many students will be requ

(A) 14 (B) 12

(C) 16 (D) 15

uh faamrer | s’ fafer & e 12%,7wéwémﬁﬁlaﬁmﬁﬂm

6 HUZ T GE AT &, af b SEl Pl HEgHAT &t 2 pate
—~7A) 14 B) 12 €
(C) 16 (D) 15

116. How many bricks of measure 25 cm x 16 cm x 10 cm are required to make 3
wall of size 20 m long, 5 m high, 50 cm thick, while there are two doors of siz
2m x 1'5 m in the wall ?

(A) 11750 (B) 11000

(C) 117500 (D) 97500

77777 | I - [444]




ZE

(A) 11750 eSS
11000 P
(C) 117500 ol P gx1006
(D) 97500 — T x1EX 10

17. In given figu
1 g gure OPl IRS1. AOPQ = 100“ a_nd éQRS= 1402 then ZPQR 1S equal to

R S .
—>— 6 x 1=
140
g G oo
100° /( X w}: X l@
20K bex )b
’ | L ot X100
A ° cO
(A) 80 B 60" wx&‘xg»oxwﬁ)(l
(C) 701: ,HX %X 1’6.
(D) s50° el )*‘J_Yo?gg
. | 1
<4 T 9= |} OP| |RS, £OPQ = 100° @91 ZORS = 140° @l SPORSEX BT 12435 ° .
) gELe
1iis
o —>
(A) | 80° —B) 60°
(C) 70° (D) 50°
118. For multiplication of two decimal numbers, such as 0-4 x 02 = 008, an

appropriate teaching-learning tool to explain the concept 1s
(A) Dienes block (B) Number chart

(C) Counting star (abacus) (D) Graph paper

77777 |V P.T.O,
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119. Which of the following represents 9, using tally marks i
(A) MW B)
(C) IH o) W MM

2
ﬁmﬁﬁmmm@wm@awmwmﬁﬁﬁm

A W W B) M M

./tf?) W D W WM

120. If monthly salary of a person is Rs. 24,000, central angle of the S€
' on
the expenditure on education by pie-chart is 60°, then the expenditure

ctor, showing

education is
(A) Rs. 4,000 (B) Rs. 8,000

(C) Rs. 3,000 (D) Rs. 6,000

U Al HT QIMRF dd9 24,000 To & | IqF e W 6T =77 F1 E-912 W 90

I ASI@UE HT F1G HIU 60° &, A ITHT 18T W =57 &I

(A) 4,000 ®o (B) 8,000 To /vc\
- 4

(C) 3,000 %o (D) 6,000 To

Ceccal [THTITT
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ENV SECTION - v / @vs - V
IRO
NMENTAL sTupDIES / TaTaTvl HAdA

Ther
C are
30 questions in all in this qeChiorn.
Ml " i
{l”{ H“{}I]H nre {’HIHIIH‘H{HY-

3 13U 1 giet 3o WA €|

AWt gy aqfqard &

~ Who is th
ki ¢ first woman of the world who climbed Mount Everest successfully

from the Kangshung side ?
A Bach ‘
(A) achendn Pal (B) gantosh Yadav

(C) Premlata Agrawal (D) Arunima gSinha

ﬁﬂﬁ@ﬁmﬁumﬂzqﬁammt{&aﬁaﬁw«ﬁwm

| 'ﬁ?%‘ ?
AR TSR T B)  Gdis AR
(C) UHIdT ATATA D) et T

122. International Bio-diversity Day is celebrated on

(A) 21st May (B) 23rd May

(C) 22nd May (D) 24th May

e Sha-fafaen fea fa feet wA S & 2

A) 2175 B) 2373
o) 227 D) 24 7%
[444] P.T.O.
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| ~ .
23 Radio bmadrammg in India started in the year

(A’ 1926 (B) 1927

(C) 1928 (D) 1929
WRA 7 feat wamor @) yama faw o gd 2

(A) 1926 (B) 1927
. (€} 1928 (D) 1929

124. Which disease is caused by the deficiency of Vitamin-A ?

(A)  Scurvy (B)  Nightblindness

(C)  Rickets (D)  Beri-beri

faeifas-u # 5 9 FH-G1 AT BT & 2
(A) Tl B) Fﬁ%ﬁ

() R&eH (D) S-S

S,

125. Which is the biggest planet of the solar system ?
(A) Jupiter (B) Saturn

(C) Uranus (D) Neptune

77777 |BIININE

STL.,



————————— A —
—_—— o ———  — — =
= - -

o o — T ———

(C) 3T/

(D) T8I

126. Principle of 'Specific to General' is used i
in

(A) Inductive method (B) Synthl‘;..tic method

(C) Heuristic method (D)  Analytic method

Tafere & W’ @ g et o @ feant 3@ €T € 2
—A)  FTHA oy B dw e

©) T WM N T p) favero fafu

127. Ranikhet disease is associated with
(A) Fishes (B) Honeybees

(C) Hens (D)  Pigs

THraa A e g ¥ 2

() e qp) YAt
() il D) g

128. The biotic components of environment are

(A) Plants (B) Mountains

(C) Fields | (D) Rivers

72777 | P.T.O.
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© D) A

129, Disadvantage of deforestation is

(A) Increase in soil erosion
(B) Decrease 1n soil erosion

(C) Increase in number of wildlife

(D)  Increase in rain

TAT ST ISR ¢

% O3 AR § gig

_AB) T3 HWGA H HH

(C) T Sitg ATl &+t = | gfg
(D) &8 H gig
130. Opium is obtained from

(A)  Papaver somniferum (B) Aloe vera

(C) Cinchona (D) Centella asiatica

TR fHEd U it ® ?.
(A) QUIET GIEvH (B)  TonlF akr

c) fa=mT (D) T TRz
77777 | IRIRND
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31 when was Clean India Mission launched ?

A 2nd October, 20
(A) 13 (B) 2nd October, 2014

C 2nd October,
(C) ¢r, 2015 (D)  15th August, 2014

(A) 2 AR, 2013 (B) 2 AT, 2014

(GF, 2 R, 2015 (D) 15 3T, 2014

132. Match the following and choose the correct :

(1) Malaria (a) Entamoeba histolytica

(1) Amoebiasis (b) Mpycobacterium tuberculosis
() Tuberculosis (c) Plasmodium
(1v) Cholera (d) Vibrio cholerae

A ) - (¢) (11) - (a) () - (d)  (iv) - (b)
(B) (1) - (c) (1) - (b) () - (@)  (iv) - (d)
€ (- G)-0b) (i)-(c) (v - ()
(D) () - (c) (1) - (a) (i) - (b)  (iv) - (d)
frfefEd 1 grfera & au1 &t &1 9599+

i) TSR . (a) WU fERelcgie

N

-—-'-_-_-_-_.

-y \
(id) Hﬁﬁ@ﬂ%%ﬁ AHIERINGH SRS
qi) swIM © i

(iv) ?,\—r]'[ T (d) ﬁﬁﬁ ﬁﬁﬁ

(A) () - (c) (1) - (a) (i) - (d) () - (b)
B) (i) - (c) (11) - (b) (iii) - (@) (V) - (d)
(C) ()-(a  (1)-(b) (ii) - () () - (d)

pr (- (<) (11) - (a) (iii) - (b) (i) - (d)

77777 | KN [444 | P.T.O.
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133. The house made of snow is kt{nwn as

STL-1

(A)  Igloo (B) Rain Basera
(C)  Green house (D) Basera

T W TG T W FEAT &

A T (B) &

€ ¥R (D) =R

nu mber of
134.

® L . ‘mum
District of Rajasthan, which shares its boundary with maxs
districts in the state is

(A) Bhilwara (B) Ajmer

(C) Barmer (D)  Nagore

memﬁw,aﬁm%aﬁwﬁvﬁ&awaﬁﬁmwm%r?
(A)  HierarsT _4B) 3T

(C) dTeN (D) AFR

135. The set of clothes which are worn without stitching is
(A)  Sar, Shirt, Cap (B) Turban, Sari, Kurta

(C) T-shirt, Lungi, Cap (D) Dhoti, Sari, Turban

F9gl F1 G fo-1 foct wer Sar 8,
(A) WIS, HHW, 2Ot (B) WS, WL, Fel

() -, &, D) g, |El, wEh
77777 | IBHINHHINA - [444]
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<)  FTEH uzi uy

137. Who was the first
(A)  Kalpangs Chawla

(C) Rakesh Sharma

T4R qAS safia arh 2
(A) F73 T FaAT

138. Which of the following forts
(A) Ranthambore fort

(C) Kumbhalgarh fort

ﬁn&aﬁaaﬁziumm%mgﬁﬁ'hfw@'#mﬂtﬂmmt?

A TOTAS 5 g
(C) Fueg

7777 | EHN

(Bj

(D)

Indian astronaut 7

Yeant

b (AL

Az 77

(B) Sunita Williams
(D)  Raja Cheri

4 7
(B)  HAA fafes
(D) 7T 9

of Rajasthan is also known as ‘Chidiyatunk’ 7

(B)

(D)

Mehrangarh fort

Sonar fort

(B) HETATg g

(D) HHER e

1.0
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139, Water day is celebrated on

(A} 22nd May (B) 22nd September

(C)  02nd February (D) 22nd March

o feaw fovg feq wammn s € 2
(A 2273 B) 22 faar

(C) 02 ®LE _AD) ~o T

140. Which of the following enzymes is present in saliva ?
(A) Pepsin (B) Trypsin

(C) Lactase (D) Ptyalin

frafafEg o @ $19-971 T=EH, ok & 39fed a1 ¢ 2
(A) ufE= B) ffom=

~,

(C) THRHT p) A

141. Following traffic sign indicates

RILINE

(A) Cross road (B) Pedestrian crossing

(C) Railway crossing (D) Narrow bridge

77777 | [N
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E12| R L 15 103 pe st 3fir T 3
(A) TR RO VI
AC)  ToTd shifem (D) | gfer

142. Which deity (Lok Devta) of Rajasthan is known as 'Deity of camels’ ?

(A)  Goga ji (B) Ramdev ji

(C)  Pabu ji (D) Bhomia ji

Wﬂﬁ%ﬂmﬁ%ﬁ 1 éqm’%wﬁﬂmﬂm% ?
(A) TS B) T S

~AAC) qﬁlsﬁ | (D) qifear =it

143. 'The Wildlife Protection Act' was enforced in India in the year
(A) 1962 (B) 1972

(C) 1982 (D) 1992

URd | ‘T it Geror AfufTam’ fhg oy ofmy ga 2

(C) 1982 (D) 1992

7777 |WNIIOIRR
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1494. The organisation which publishes the 'Red Data Book' of specic®

STL-1

(}‘l ICFRE (B) WWF

(C) ITUCN (D) UNEP

A wfeat &) T 2 g W FIA €, 9@ G @
(A) 3¢ @ UF AW § B) T=Yg TxYq [h

() 3¢ g (D) JuAsd

145. Who coined the term 'biodiversity' ?

(A) A. G. Tansley (B) E. Haeckel

(C) R. H. Whittaker (D) W. G. Rosen

wa-fafayar (araterafaet) v fhaa fear ar 2
(A) T, St e (B) . &l

(C) 3R. T, ﬁ?ﬂﬂ D) =g, S, TSH

IH.

146. Select the festival \rom the following which is celebrated on the full moon of

Shravan :
(A) Diwali (B) Holi

(C) Maha Shivaratri (D) Raksha Bandhan

777 | BIII
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(A) Teaeh
| (C) W& foramfy

- 147. Sitabari fair ( Kympha of Sahriya tribe ) is held at
(A)  Arnod — Pratapgarh
| (B)

148. State tree of Rajasthan is

(A) Khejari

(C) Peepal

T &7 759 98 &
A T
() o
77777 | IR

(D) S'E-T{-m

(B) Neem

(D)  Amaltash

B) ™

(D) HAHAAI

P.EL).
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149, Which of the following enzymes is nof secreted by pancreas

(A)  Renin (B)  lipase

(C) Trypsin (D) Amylase

) fefm (D)  THTEEAS

150. National Aquatic Animal of India 1S

(A) Gangetic Dolphin (B) Whale

(C) Lion - (D)  Chinkara
TR T T STl Uil &

(A) ‘I-Ii_lﬂ EW - (B) &

(€ I D) far

ey (DRI 344 ]




